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e(t)= 10051ncot:>E—1\;)§ = 50+/2(cos 0+ jsin 0)=50~/2;
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u(t) =100sin(of + —) = ——-¢ * =504/2 50 +50
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i(t) = Sﬁsm(mt——)—% T :5(0— /'-1): -57;

u(t) =100sin(mwz — 135)_% R _soﬁ(—g_,-ﬂlz_so—so;
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1=10+20=1 :\/102 +20? =2236= 1, :1\5:31,5@ :arctgﬁ:n'(t) = 31,5sin(w? + arctg?);

U ==10j=>U :\/02+(—10)2 =10=U,, :10\/§;q) :arctg%——%:u(t)zlox/zsin(cot—%);

jl :1+i;j2:1_i;j3:_1+i;j4:_1_i:>11:]2 213214:\/§;Ilm :]2m :13m :]4m =2;

i1 (1) = 2sin(wt +45); i, () = 2sin(wt —45); i3(1) = 2sin(wf +135);i4(¢) = 2sin(wz —135).
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e(t) =446sin(10007 +18,5°); E = E-e =316,2(cos18,5+ jsin18,5)=300+100;
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5 =10;r,=40;L=0,01;C=25-10"° ZR1 =10;ZR2 =4 5 =@l =11=2Z; :10/.;,X‘C:R:4032C:_40]..

_ Zn,Ze _40-(-40)) _ (-40/) _(-40))(1+ /) _40-40;

Zi=2Z,+7Z,=10+10; Z,
‘ C g tZ, 40-40/ I (1= 7)1+ /) 2

=20-20;

E__300+100j _(30+10/)3+/) _¢ ¢
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L. . . & B - (—40/)
L=L+1:1:Z, -1.-Z.=0=1 =] —&—=(8+6j)————
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Up =1-Z, =80+60/;U, =1,-Z, =—60+80;U,=1,-Z, =1,-Z. =280-40;

S +U, =Y tE =1 2,112, =E= =
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=7-jil,=1,-1,=1+17j.

A=1 =||=+8+6* =10,V =U, =|U,| = /280 + 40> =282.8
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1, E=300+100/;U, =80+60;
I, =8+6j;1,=7-f;1,=1+17]. U, =—60+80/;U, =280—40/.
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Z EHCT = Z LrS\:ITO’]‘p - z PI/ICT = z })HOT’p; Z QI/ICT = Z QﬂOTp *
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— no. L% - no. % noo. % n ok
Sm=ZEk-1_k+ZUk-Qc}={Smp=ZEk-QfﬁZUk-I_kﬁZli-Zk}- Ig =1l Ix.

k=1" k=1" -

k=" k=1 k=1
S =E-11=(300+100/)-(8—6/) = 3000—1000 ;
ID=8+6/)8-67)=100;1, =(7— )7+ j)=50;1; =(1+7j)(1-7j)=50

=17 -Zy +17-Z, +1;-Z, +1;-Z.=100-10+100-10/ +50-40+50-(—40 /) = 3000~ 1000 /
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U = ' §:U-I:P+/’Q;P=U-1-coscp;
Q=U-]-sin(p;W:P:Re(§)

[i Wi=Re@)=Re( )

Wz - Re(gz) = RG(UL ]:)







